mmWave Studio, “rawDataRadar.m”

8 frame, 128 chirp/frame, 256 samples/chirp

radarCube.data

=TT, AEETN i =i
| radarCube | radarCube.data | radarCube.data{l, 1} |
radarCube.data
1 2 3 4 5 6 7 8

1| 728x4x256 complex single | 128xdx256 compl.. 128xdx256 co... 128xdx256 ... 128x4dx 256 ...| 128x4dx256 ... 128x4dx256 ... 128x4x256 ...

»
»

Frame #1 —#8
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AE N

3t =T

radarCube.data

radarCube.data{l, 1}

radarCube
radarCube.data{l, 1}
Sample#1
vall:, 1,10 =
1.0e+04 %
-0.5380 + 0.6435]
-0.5913 + 0.69481
-0.8027 + 0.68871
-0.5984 + 0.69351
-0.5909 + 0.BB18|
: 0
AN
. —
-0.B030 + 00,7108
-0.6006 + 0.71144
-0.5768 + 0.7253)
Sample#?2
val(:,:,2) =
1.0e+04 =
0.9180 - 0.6628;
0.2961 - 0.6420;
0.8927 - 0.6042

Rx1

(3330
L3270
L3236
.3431
L3518

3821
0\3943

0.2515
0.2452
0.2446

LT

Rx2

!

- 0.56380i
- 0.5540i
- 0.5730i
- 0.5681i
- 0.5887i

- 0.5590i
- 0.5717
- 0.6027

+ 1.26401
+ 1.2624;
+ 1.25701

Rx3

-0.9232
-0.91286
-0.9134
-0.9036
-0.8873

9442
. 9554
L9535

L1529

0.1529
0.16832

!

+

+

+

+

an +

8439
L8238
82481
L8417
L8210

L8002
L8319
L8143

L1897
L1894
L1BOT

T —

L1647
L1482 -
L1422 -
JB10 -
L1509 -

Rx4

0923 -
L1005 -
L1004 -

L6601 +
3.8464 +
3.7996 +

2.5965
2.6208
2.6084 |
2. 6247

2.57601
2.57304
2.56221

5.58071
b.56901
5.5672i

- 26056 Chirp#1

A

C

4
hirp#17

8

\ 4

-1.6331 + 2.4922i
-1.673% + 2.61630

Sample#256
valls, i, 2o =
1.0e+04 *
-0.2776 + 0.2750i
-0.2828 + 0.2662i
-0.2646 + 0.2795i
-0.2824 + 0.2669]
-0.2852 + 0.2680]
-0.2845 + 0.2903]
-0.2856 + 0.2750]

Lo T s S s B s

L2239
L2887

L1708
714
1597

L1603

L1643
L1554
1540

Lo T s T N o }

L0736
L2795

23391
L2256
L2108

L2132
23001
L2078
L2136

. 1859
L8951

. 1455
L1447
L1558

L1511
1436
L1570
L1882

+ 4+ 4 4 wmememes

Lo T s T N o }

L1086 |
L9018

LBB28 |
LB827
B0

LBT05
AR
.BEBT
B8

3.3287
3.45%5

0.6398
0.6491
0.6215

6241
6469
6428
6449

bH.9957i
6.24371

L0739
L0466
L0548

L0443
03301
L0454
L0344




